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Aggiungendo al intero Nome:
Trovalafrazione cherende veral equazione. Risposte
1) 2 2) 5
? —= ? —_ =
? + 5 1 + 3 1 1
2,
3 1 4 3
il 2 = — ? =
5 + ? =1 3 + ? =1 3
4,
5) 1 6) 4
2 +—= ? +—=
vzt *107t >
6.
7) 4 8) 5
? +—= ? — =
+ 3 1 + 9 1 7.
8.
9 1 10) 7
S ? = ? —=
10 + 7 + 9 1 9.
10.
11) 2 12)
?+—=1 —+ 7?7 =1 11.
4
12.
13) 2 14) 1
— D = —_— ? =
3 + ?7 =1 5 + 7?7 =1 13.
14,
15) 4 16) 1
? —= ? — =
+ 5 1 + ) 1 15.
16.
17) 1 18) 1
? —= - ? =
+ 3 1 9 + ? =1 17.
18.
19) 1 20) 4
? —= ? - =
+ 6 1 + 9 1 19.
20.
Mat i 7 1-10 [95]90]85]80[75] 70]65] 60[ 55 [ 50
atematica 4 commonCoreSheets.it 11-20[45] 40 35[30] 25| 20[15]10] 5 | 0
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Aggiungendo a 1 intero Nome: Soluzioni
Trovalafrazione cherende veral equazione. Risposte
1) 2 2) 5 4
? +—= ? —=
D 4+ s 1 + 3 1 1 6
3
2 8
3 1 4 3 1
il 2 = — ? =
5 + 7?7 =1 5 + ? =1 3. 2
5
4, 8
5) 1 6) 4 6
2 +—= ? +—=
+7 1 + 10 1 5. 7
6
6. 10
7) 4 8) 5 4
? +—= ? — =
+8 1 + 9 1 7. 8
4
8. 9
9 1 10) 7 9
S ? = ? —=
10 + 7 + 9 1 9, 10
2
10. 9
11) 2 12) 2
?+—=1 —+ 7?7 =1 11. 4
4
1
12. 7
13) 2 14) 1 1
-+ ?=1 —+ ?7=1 .
3 5 13 3
4
14. 5
15) 4 16) 1 2
? —= ? — =
+ 5 1 + ) 1 15. 6
3
16. 4
17) 1 18) 1 2
? —= - ? =
+3 1 9+ 2 =1 17. 3
8
18. 9
19) 20) °
? +%=1 ? +%=1 19. /6
5
20. /9
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